

Ап.№	Етаж	Тип	Жил. Площ	Общи части м2	Обща площ м2	Цена м2	Цена в евро	Цена в лева	Статус
Sh.1	1	Shop	27.07	4.67	31.74	2700.00			SOLD
Sh.2	1	Shop	28.84	4.98	33.82	2550.00			SOLD
Sh.3	1	Shop	22.94	3.96	35.67	2548.00	90,900.00	177,784.95	
Sh.4	1	Shop	23.65	4.08	35.11	2532.00	88,898.52	173,870.39	
Ап.2	1	1 bedroom	54.51	8.04	62.55	1900.00	118,845.00	232,440.62	
Ап.3	1	1 bedroom	49.90	7.69	57.59	1710.00			SOLD
Ап.4	1	1 bedroom	49.92	6.77	56.69	1750.00			SOLD
См.5	1	studio	29.80	4.04	33.84	1800.00			SOLD
См.6	1	studio	34.32	5.04	39.36	1600.00			SOLD
См.7	1	studio	35.14	4.94	40.08	1600.00			SOLD
См.8	1	studio	29.80	4.04	33.84	1600.00			SOLD
См.9	1	studio	29.80	4.04	33.84	1600.00			SOLD
См.10	1	studio	29.58	4.04	33.62	1600.00			SOLD
Ап.11	1	1 bedroom	56.97	9.22	66.19	1510.00	99,946.90	195,479.15	
Ап.12	1	1 bedroom	56.97	9.22	66.19	1510.00	99,946.90	195,479.15	
См.13	1	studio	29.59	4.04	33.63	1620.00	54,480.60		SOLD
См.14	1	studio	29.80	4.04	33.84	1620.00	54,820.80		SOLD
См.15	1	studio	29.80	4.04	33.84	1620.00	54,820.80		SOLD
См.16	1	studio	35.14	4.94	40.08	1600.00	64,128.00		SOLD
См.17	1	studio	34.32	5.04	39.36	1700.00	66,912.00		SOLD
См.18	1	studio	29.80	4.04	33.84	1800.00	60,912.00		SOLD
Ап.19	1	1 bedroom	49.58	6.77	56.35	1800.00	101,430.00		SOLD
Ап.20	1	1 bedroom	49.90	7.69	57.59	1710.00	98,478.90	192,607.99	
Ап.21	2	1 bedroom	49.90	8.62	58.52	1850.00	108,262.00		SOLD
Ап.22	2	1 bedroom	49.91	8.62	58.53	1900.00	111,207.00		SOLD
См.23	2	studio	29.80	5.14	34.94	2100.00	73,374.00		SOLD
См 24A	2	studio	35.35	6.10	41.45	1800.00	74,610.00	145,924.48	
См24 B	2	studio	36.80	6.36	43.16	1800.00	77,688.00	151,944.52	

Cm.25	2	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.26	2	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.27	2	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.28	2	<i>studio</i>	32.22	5.56	37.78	1700.00	64,226.00		SOLD
Ап.29	2	<i>1 bedroom</i>	52.98	9.15	62.13	1700.00	105,621.00	206,576.72	
Ап.30	2	<i>1 bedroom</i>	52.98	9.15	62.13	1700.00	105,621.00	206,576.72	
Cm.31	2	<i>studio</i>	32.22	5.56	37.78	1700.00	64,226.00		SOLD
Cm.32	2	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.33	2	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.34	2	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm 35A	2	<i>studio</i>	35.35	6.10	41.45	1800.00	74,610.00	145,924.48	
Cm 35B	2	<i>studio</i>	36.80	6.36	43.16	1800.00	77,688.00	151,944.52	
Cm.36	2	<i>studio</i>	29.80	5.14	34.94	2100.00	73,374.00	143,507.07	
Ап.37	2	<i>1 bedroom</i>	49.91	8.62	58.53	1900.00	111,207.00		SOLD
Ап.38	2	<i>1 bedroom</i>	49.90	8.62	58.52	1850.00	108,262.00		SOLD
Ап.39	3	<i>1 bedroom</i>	49.90	8.62	58.52	1850.00	108,262.00		SOLD
Ап.40	3	<i>1 bedroom</i>	49.91	8.62	58.53	1900.00	111,207.00		SOLD
Cm.41	3	<i>studio</i>	29.80	5.14	34.94	2200.00	76,868.00		SOLD
Ап.42	3	<i>2 bedrooms</i>	72.15	12.46	84.61	1750.00	148,067.50		SOLD
Cm.43	3	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.44	3	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.45	3	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.46	3	<i>studio</i>	32.22	5.56	37.78	1700.00	64,226.00		SOLD
Ап.47	3	<i>1 bedroom</i>	52.98	9.15	62.13	1700.00	105,621.00	206,576.72	
Ап.48	3	<i>1 bedroom</i>	52.98	9.15	62.13	1700.00	105,621.00	206,576.72	
Cm.49	3	<i>studio</i>	32.22	5.56	37.78	1700.00	64,226.00		SOLD
Cm.50	3	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.51	3	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.52	3	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm 53A	3	<i>studio</i>	35.35	6.10	41.45	1800.00	74,610.00		SOLD
Cm 53B	3	<i>studio</i>	36.80	6.36	43.16	1800.00	77,688.00	151,944.52	

Cm.54	3	<i>studio</i>	29.80	5.15	34.95	2200.00	76,890.00		SOLD
Ап.55	3	<i>1 bedroom</i>	49.91	8.62	58.53	2000.00	117,060.00		SOLD
Ап.56	3	<i>1 bedroom</i>	49.90	8.62	58.52	1850.00	108,262.00		SOLD
Ап.57	4	<i>1 bedroom</i>	49.90	8.62	58.52	1850.00	108,262.00		SOLD
Ап.58	4	<i>1 bedroom</i>	49.91	8.62	58.53	2000.00	117,060.00		SOLD
Cm.59	4	<i>studio</i>	29.80	5.14	34.94	1989.00	69,500.00		SOLD
Cm.60A	4	<i>studio</i>	35.35	6.10	41.45	1800.00	74,610.00	145,924.48	
Cm.60B	4	<i>studio</i>	36.80	6.36	43.16	1800.00	77,688.00	151,944.52	
Cm.61	4	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.62	4	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.63	4	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.64	4	<i>studio</i>	32.22	5.56	37.78	1700.00	64,226.00		SOLD
Ап.65	4	<i>1 bedroom</i>	52.98	9.15	62.13	1700.00	105,621.00		SOLD
Ап.66	4	<i>1 bedroom</i>	52.98	9.15	62.13	1700.00	105,621.00	206,576.72	
Cm.67	4	<i>studio</i>	32.22	5.56	37.78	1700.00	64,226.00		SOLD
Cm.68	4	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.69	4	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.70	4	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.71A	4	<i>studio</i>	35.35	6.10	41.45	1800.00	74,610.00	145,924.48	
Cm.71B	4	<i>studio</i>	36.80	6.36	43.16	1800.00	77,688.00	151,944.52	
Cm.72	4	<i>studio</i>	29.80	5.15	34.95	1989.00	69,500.00	135,930.19	
Ап.73	4	<i>1 bedroom</i>	49.91	8.62	58.53	2000.00	117,060.00		SOLD
Ап.74	4	<i>1 bedroom</i>	49.90	8.62	58.52	1850.00	108,262.00		SOLD
Ап.75	5	<i>1 bedroom</i>	49.90	8.62	58.52	1850.00	108,262.00		SOLD
Ап.76	5	<i>1 bedroom</i>	49.91	8.62	58.53	2000.00	117,060.00		SOLD
Cm.77	5	<i>studio</i>	29.80	5.14	34.94	1989.00	69,500.00	135,930.19	
Ст.78 А	5	<i>studio</i>	35.35	6.10	41.45	1800.00	74,610.00	145,924.48	
Ст.78B	5	<i>studio</i>	36.80	6.36	43.16	1800.00	77,688.00	151,944.52	
Cm.79	5	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
Cm.80	5	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD

См.81	5	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
См.82	5	<i>studio</i>	32.22	5.56	37.78	1700.00	64,226.00		SOLD
Ап.83	5	<i>1 bedroom</i>	52.98	9.15	62.13	1700.00	105,621.00		SOLD
Ап.84	5	<i>1 bedroom</i>	52.98	9.15	62.13	1700.00	105,621.00	206,576.72	
См.85	5	<i>studio</i>	32.22	5.56	37.78	1700.00	64,226.00		SOLD
См.86	5	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
См.87	5	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
См.88	5	<i>studio</i>	29.80	5.14	34.94	1700.00	59,398.00		SOLD
См.89A	5	<i>studio</i>	35.35	6.10	41.45	1800.00	74,610.00	145,924.48	
См.89B	5	<i>studio</i>	36.80	6.36	43.16	1800.00	77,688.00	151,944.52	
См.90	5	<i>studio</i>	29.80	5.15	34.95	1989.00	69,500.00	135,930.19	
Ап.91	5	<i>1 bedroom</i>	49.91	8.62	58.53	2000.00	117,060.00		SOLD
Ап.92	5	<i>1 bedroom</i>	49.90	8.62	58.52	1850.00	108,262.00		SOLD
Ап.93	6	<i>1 bedroom</i>	44.54	7.69	52.23	1900.00	99,237.00	194,090.70	
См.94	6	<i>studio</i>	39.20	6.77	45.97	1950.00	89,500.00	175,046.79	
Ап.95	6	<i>2 bedrooms</i>	77.65	13.42	91.07	1900.00	173,033.00	338,423.13	Теп 41.62
Ап.96	6	<i>1 bedroom</i>	62.00	10.72	72.72	1800.00	130,896.00	256,010.32	Теп 12.60
Ап.97	6	<i>1 bedroom</i>	53.22	9.19	62.41	1900.00	118,579.00	231,920.37	
Ап.98	6	<i>1 bedroom</i>	53.22	9.19	62.41	1900.00	118,579.00	231,920.37	
Ап.99	6	<i>1 bedroom</i>	62.00	10.72	72.72	1800.00	130,896.00	256,010.32	Теп 12.60
Ап.100	6	<i>2 bedrooms</i>	77.65	13.42	91.07	1746.00	159,000.00	310,976.97	Теп 41.62
См.101	6	<i>studio</i>	39.20	6.77	45.97	1950.00	89,500.00	175,046.79	
Ап.102	6	<i>1 bedroom</i>	44.54	7.69	52.23	1900.00	99,237.00	194,090.70	
MG6-201	2	<i>studio</i>	31.97	5.49	37.46	1900.00	71,200.00	139,255.10	
MG5-1-2	1	<i>1 bedroom</i>	47.05	8.41	55.46	1800.00	99,800.00	195,191.83	

Ап.№	Етаж	Тип	Жил. Площ	Общи части м2	Обща площ м2	Цена в евро	Цена в лева	Статус
p.s №1	-1	parking spase	24.21	17.39	41.60	22,000.00	43028.26	

p.s №2	-1	parking spase	25.80	18.54	44.34	20,000.00	39116.6	
p.s №3	-1	parking spase	22.29	16.01	38.30	25,000.00	48895.75	
p.s №4	-1	parking spase	19.19	13.79	32.98	25,000.00	48895.75	
p.s №5	-1	parking spase	25.66	18.43	44.09	20,000.00	39116.6	
p.s №6	-1	parking spase	15.25	10.96	26.21	20,000.00	39116.6	
p.s №7	-1	parking spase	16.47	11.83	28.30	20,000.00	39116.6	
p.s №8	-1	parking spase	21.89	15.73	37.62	20,000.00	39116.6	
p.s №9	-1	parking spase	24.67	17.72	42.39	20,000.00		SOLD
p.s №10	-1	parking spase	27.10	19.47	46.57	25,000.00	48895.75	
p.s №11	-1	parking spase	14.48	10.40	24.88	20,000.00	39116.6	
p.s №12	-1	parking spase	15.84	11.38	27.22	23,000.00		SOLD
p.s №13	-1	parking spase	15.53	11.15	26.68	20,000.00	39116.6	
p.s №14	-1	parking spase	15.96	11.47	27.43	25,000.00	48895.75	
p.s №15	-1	parking spase	13.57	9.75	23.32	25,000.00	48895.75	
p.s №16	-1	parking spase	27.10	19.47	46.57	20,000.00		SOLD
p.s №17	-1	parking spase	24.65	17.71	42.36	25,000.00	48895.75	
p.s №18	-1	parking spase	37.77	27.13	64.90	35,000.00	68454.05	
p.s №19	-1	parking spase	12.66	9.10	21.76	20,000.00	39116.6	
p.s №20	-1	parking spase	21.37	15.35	36.72	25,000.00	48895.75	
p.s №21	-1	parking spase	26.68	19.17	45.85	25,000.00	48895.75	
p.s №22	-1	parking spase	25.88	18.59	44.47	20,000.00		SOLD
p.s №23	-1	parking spase	24.18	17.37	41.55	20,000.00	39116.6	
p.s №24	-1	parking spase	19.16	13.76	32.92	20,000.00	39116.6	
p.s №25	-1	parking spase	19.16	13.76	32.92	20,000.00	39116.6	
p.s №26	-1	parking spase	21.98	15.79	37.77	20,000.00		SOLD
p.s №27	-1	parking spase	21.12	15.17	36.29	20,000.00		SOLD
p.s №28	-1	parking spase	15.72	11.29	27.01	20,000.00	39116.6	
p.s №29	-1	parking spase	16.17	11.62	27.79	20,000.00	39116.6	
p.s №30	-1	parking spase	16.17	11.62	27.79	20,000.00	39116.6	
p.s №31	-1	parking spase	17.42	12.52	29.94	20,000.00	39116.6	